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Luen Ll e oF LI e dn Sl el 1
Scalene Equilateral Right angled Jsosceles | Triangle having two sides congruent is called: ,
|
Area of the given figure is: Zc‘....}';(y df s || 2
18cm?3 9cm? 18cm? 9cm 5 |
cm
6ecm
" 5 3 3 -u_r;{ q&fyﬁdﬂf.uwé Ut 3
Proportion is defined as the equality of ratios.
B Ji 24 g :u}Ln.ﬁltéugsljufﬁwf’ 4
Concurrent Congruent Perpendicular Parallel ‘The bisectors of the angles of a triangle are:
et VN (1A
2 3 5 4 Diagonal of a parallelogram divides the
parallelogram into congruent triangles.
A4t y B B :uthkJiuiu?undu{mﬁ.m@dﬁ 6
l . - |Three points are said to be if they lie on same
Unequal | Equal | Non-collinear Collinear  |line.
(-1-1) | (0D (1,0) (LD e Bk (2,2) 41(0,0)48| 7
| 1 Midpoint of the points (2 ,2) and (0, 0) is:
| v || 11l I I e Ll (2,73 B 8
1 Point (2,—-3) lies in quadrant:
I 3 .
L s 0 3 R e O A T I
1 2 3|
| x= ____isasolution of inequality ~ 2<x<5,
. -
i X +2 | x=-2 x+3 x24+x—6 ;é_rayf;u(ﬂq-x—ﬁ,,lx-ilu}’.! i
! | H.CF. of x—2 and x2 4+ x—6 is:
[ .
| 3
§| (x—1),03x+2) 15 x=1),0x-2) | (x+D),0x+2) | (x+1),06x~2) g AL -x-2 | 1

[

1
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[ (a+b)(@2+ab+b?) D (a+b) (a2 —ab+b?) g\

el (BT s’ 13

The logarithm of unity to any base is:

bggu:!’:b;ﬁéxf 4‘%’ 14

Write 423,‘ with radical sign:
e 06 [2 116) 15

The order of matrix [2 1] is: P )
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( part-1
Attempt any SIX parts:

a+c a+2b
c-1 4d-6

-

Jilaaa )

ZESrgedS 2

Find the values of a, b, ¢ and d which satisfy the matrix equation: :L{/r"'ﬁl:/»f/_-blzéfdmg{r)”ﬁg;d sedbea (1)

J-[5 3

E 2 i i 1 2 -
If A= [ 0 }] then verify that (AY)' = A AV =A ZFdin A =[ 0 ]1 S (i)
= . g ; -2 -2 &g . ‘,_{ )
Simplify and write in the form of a + bi : T i - LY a+bist ZA7 (i)
simplify: x5y~ (-8x3y?) @Sy (83D L ()
Find the value of x when: 1084256 =X loga256=x . galebizifx ()
Find the value of x when: 108X =2.4543 logx =2.4543 .ﬁggr:h’:,é'd'x (vi)
J2—+'][J2_~1J [J2—+‘ J_z—‘J--"'MiJ
s (V7 + - ral T 7)) #F
X —4x . - 5 > -
Reduce the rational expression to the lowest form: -(_a(;&ﬂ—zyTL 2] 94 t}e Uff/"; iz U&t (viii)
Factorize: X3 +3xy2—2x2y—6y3 B+3xy2-2x2y-6y> . ZLyf (ix)
Attempt any SIX parts: féd'o'?'{:-(jf
Use factorization to find the square root:  4x% —12x+9 4x2-12x+9 i_.é(:l"‘zjgr_.uJ ¢ f- )
Solve the inequality: ~ —6<272<6 ~6<222<6 L Sentd ()
Define a linear inequality in one variable, Sy P el En L S (i)
_._érzl”j‘:& cslm J?’LL/C:U»JY y=mx+c /3-2x+y=0 . (iv)
Find the values of m and ¢ of the given line 3—-2x +y =0 by expressing it in the form ¥ =mX +¢
(e iy XY +1=0 Gy (2 3) BVLIETA ()
Verify that the given point ( 2, 3 ) lies on the line 2x—y+1=0 or not.
Define right angled triangle. -g{.@ﬂ&ﬂ,ﬂﬂﬁi (vi)
Find the midpoint between the pair of points (6,6),(4,-2). _ér}vydt_mmmé (6,6),(4,-2) LB (vii)
oS x st m e U SEYS il
Find the value of unknown m and x for the given congruent triangles:
N
g
UL : ”
i ” G ead§ 0t m e LIIgHPL] LMNP Lo (i
e The given figure LMNP is a parallelogram. Find the value of m and n.
k=]
L 8m-—4n M
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Attempt any SIX parts: -0
Define bisector of a line segment. -ﬁ;&f -/ }U_ﬁrtﬁ b

etz QLS T A Ut S, Qlbotand el S & d st 8em il 6om « 10cm UELAS, Ll et g fi iy
If 10cm, 6cm and 8cm are the lengths of a triangle then verify that sum of measures of two sides of a triangle is
greater than the third side.

Define similar triangles. -t i
State Pythagoras Theorem. -—é L‘Jk:.uf (I (iv)
X 13cm
Find the value of x in the given figure: :gf:rpb’caflf X ‘,Cfd%: v)

Scm & s,
Define triangular region. & _@,;-'J,Sw‘?’ (vi)
. ; 10cm
Find the area of the given figure: ;érpjjgyg'd, (vii)
16cm
Define circumcenter, -”4":‘._?/“5}9;/{" (viii)
Construct a triangle ABC in which: mAB =3cm , mAC =3.2cm » MLA =45° (WSS ek ABC adn (ix)

- S 94Dy~ 08 Ly - feinl vl 3 (@93 duas

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve by using the Cramer's rule: ax+2y=8 ; 3x-y=-1 :g‘,ggﬁ_'-u(fuiﬁ'ﬁﬁ/’ ()

TP, a am akn aX a2m a2n g
SlmP[If)‘- [ ag+m ) [ qm+n ] ( an+f ) ( at+m ) ( gm+n ) (aﬂﬂ‘ é{/"‘ (.__,)
Use log tables to find the value of: 3’#9;}1[6%_“82&& ié")"@gc-udldugﬁ@ ()

o I 1 .
-.éif’h’w":l.{pz"'? ,,;p2+~52~ yxp=2+J3—)T (L)

If p=2++/3", then find the values of p*+ Elg- and p? _p_lz

Factorize: X4-y2-dx-2y+3 X2—y?—4x -2y +3 {_-rd/“ ()

Find the H.C.F. by division method: x*+3x2-16x+12 , x3+x2—10x+8 ig,’,_{r:i"(ybb,‘fgb-} (&)
1 1 2 1(1 . :

Solve the equation: —2-(X = -8*) + 3= —g— + ?("_2— = SX) .éd’f.:;«bl/ ()

Construct the triangle PQR and draw its altitudes: :gf/@;légfbsl@.bz PQR &+ ()
mRP =3.6cm , m£Q=30°, m£P=105°
5 ?xJﬁL&JU:l/r_w/ﬁ 13283 50y s e ('3 byt 17 bﬁﬁi’i&-ﬂﬁf ‘_é et

Prove that any point on the right bisector of a line segment is equidistant from its end points,

-~ OR | <
Y (ux;:',cf/l.izlﬂul_{z) uﬂ(’jbc}!ﬂ:&b’Lf[f}f?c‘:ub:fboﬁﬁ'ﬂJﬁIC,U.'iUld)i?‘df:{aﬁﬁ'{ﬁugfé:"cr,t‘

_fumuut

Prove that parallelograms on the same base and between the same parallel lines (or of same altitude) are
equal in area.
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A I Questions / = Uly o rd
I N
I = -1 - ‘esle Adj | o -1
- o 1 | 2
Adjointof | o _y| is equal to:
4 S 25)Y 72 _ |
| 5 4 16 T
| /W e 0 |
a=logxn I| X =logan ,‘ x =logna a=log, x :}’;:a":n/?
I|' I j“f aX =p then; _ - .I
|
1 ] . F -7 7 r (3+V2)(3-V2 )= - |4
2 | N R
i . 24 e 2
| X+2,x+3 J X+6,x-1 | x-2,x-3 X+1,x-6 UG L _sx 16| 5
[ Jl ] [ The factors of x%=5x + 6 are: |
! = .
f Sxy , 100x5yS | 20x3y3 ? & PN ikl 206%y3 Ly 5x2y2 | g |
| | 2,2 33 e _
- . —i_d' = E‘" S S C.F. of 5x2y2 and 20x y? is: , |
| ok | end [ 2EE ”ff.g' WML e e 2 2y < > r<ufu’°uw{[ 7|
| Mg = R ; . i
Linear equation |  Inequation ldenti® Waﬁon A statement involving any of the symbol - l:‘fl:r Il
, 6y <;>,= or 2 iscalled: ’ |
Y-+ - T 1
“ (0,1) (2,2) (2,1) (1,2) ?«‘a.(fl:{JIfﬁy:Zx@bl/.&'ﬁU)/‘ 8 "I
| Which ordered pair satisfies the equation y = 2x ? :
F“‘” (0,0) (=2,-2) (2,2) 0 (-2.2),4(2,-2) 15|
|
i Midpoint of the points (2,-2) and (=2,2) s _’ |
_1 A ray has end points: ) ]
Bt e LA s Sl ngbasl e ls] 11
Non-concurrent Opposite Concurrent Parallel |Medians of a triangle are:
‘ - e
2 ] 5 ! 4 3 e bt S L Ur, e Lk l 12
| { Bisection means to divide into ‘equal parts.
5 ! = | = ; I :
T’W’f’ | e [ b = GESFL S deenl i) 13
r?g: 3:1 .'l 5 oll_’rg;tign | Proportion Ratio Equality of two ratios is called: ,
e = — —
! f Area of the given figure is: :q,_.;;ﬁ}eu‘rj: 14
.| | 6cm
f! 3em? 18m?2 | 36em2 9cm? i
| :l [ 3em | ,
S S . S
= FUIGE | fusgiga J Yy Luop i > d Won J‘LPZ, w,i,,;u*‘!.gw._g; 15 !
(__ Isosceles Equilateral | Right angled Scalene A triangle having two sides congruent is called: | i
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( Part-1 Jijl 4 )

Attempt any SIX parts: é&izi%’:_(jf
Define null or zero matrix. ~EWASm )
Find the determinant of matrix: =~ C= B i; ] C= B ;] Gy ()
Write the conjugate of —i : A =i i)
Simplify: (=7+3i) (-3+2i) (-7+3i) (-3+2i) ;g;,z? (iv)
Find the value of x : ~ log3x =4 log3x =4 Eeedfx W)
Find the value:  log32xlog; 81 log32x log 81 Eebied (vi)

V21 x 7 x J3 ‘_g{/y (vii)
il Linx=2- V3 Ji i)

Simplify: V21 x V7 x V3

Ifx=2- ‘\/_3— then find the value ofo.

Factorize: ~ 3x?-75y? W75y gUA (in)
Attempt any SIX parts: 15&17. l{:...(j/
FindtheLCM:  39x7y3z , 91xSy677 | 3xTy%z , 9ISy62T i fisens (i)
Solve the equation: Va3 = Wx=2 Wax+3 = Yx-2 :g,g._)’f.:,l,i,a (1)
Solve forx ; [X+2|=3=5-|x+2| [x+2|-3=5-|x+2| _ér’:l”:.afd/x (iii)

,é.l(;l”dgt;cJ:#m.&-‘iﬁa"_..&l.gu:y:mx+c:(3_2x+y20_~-b|./ (iv)

Find the values of m and ¢ of the given line 3-2x+y =0 by expressing it in the form ¥ =mX +¢
e Eing 2x-y+1=07 (5,3) SSEGA )
Verify that the given point (5,3 ) lies on the line 2X~y+1=0 or not.

Find the distance between pair of points: A2, -6),B(3, -6 :_é—r:l"’.l-fli&y»b’@}ﬁﬁw; (vi)
Find the midpoint between the pair of points: AG, -11),B@, -4 G BT kUi L L6 (vii)
State H.S postulate. - Ukar K HS (vidi)
8
I
4m+n e edd 0ol m LW LMNP S )
10 (; -
O, The given figure LMNP is a parallelogram. Find the value of m and n.
L 8m - 4n M
Attempt any SIX parts: _ 2{1}‘;12'{.:.11/
Define bisection of an angle. -g‘,-.-r._éﬂ/‘."JJ;"’;:-‘i (i)

-l e Pttty £ 2L 2em, dom, 7om UPUT S E ol (ii)

Explain whether the given lengths 2cm, 4cm, 7cm can be the lengths of the sides of a triangle.

Define ratio. Sl G

(k)
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